「乘積」表(二)
利用「乘積」表，展開以下各式(二項式乘以二項式)：
	例
	(y +6)(y –9)

= y2 –9y +6y –54  
= y2 –3y –54 

	×

y
–9

y
y2
–9y
6

6y
–54



	1.
	  (2y +3)(y +5)

= 

	×

2y
3



	2.
	  (8x +8) (9 –12x)  

=

	×

9 

–12x


	3.
	  (2a +b) (–4a +5b)

=
 
	×



	4.
	  (2x +4y) (–2x –4y)  

=

	×



	5.
	  (a –3) (4a +26)

= 

	×



	6.
	  (x –2y) (x +y)   

= 

	×



	7.
	  (–k +h)(5k +2h)

= 

	×



	8.
	  (–2p –10q) (11p +q)   

= 

	×



	9.
	  (–2a –2b) (–a +6b) 

= 

	×



	10.
	  (–x –2y) (3x –4y)

= 

	×



	11.
	  (–5k –2h) (–h –8k)

= 

	×



	12.
	  (–a –b) (–6a –9b)

= 

	×



	13.
	  (–2t –s) (–2t +s)

= 

	×




「乘積」表(二)答案
利用「乘積」表，展開以下各式(二項式乘以二項式)：
	例
	(y +6)(y –9)

= y2 –9y +6y –54  
= y2 –3y –54 

	×

y
–9

y
y2
–9y
6

6y
–54



	1.
	  (2y +3)(y +5)

= 2y2 +10y +3y +15 
= 2y2 +13y +15 

	×

y
5
2y
2y2
10y
3

3y
15


	2.
	  (8x +8) (9 –12x)  

= 72x–96x2 +72–96x 

= –96x2–24x +72 

	×

9 

–12x
8x
72x
–96x2
8

72
–96x


	3.
	  (2a +b) (–4a +5b)

= –8a2 +10ab –4ab +5b2 
= –8a2 +6ab +5b2

	×

–4a 
5b
2a 
–8a2
10ab
b
–4ab
5b2


	4.
	  (2x +4y) (–2x –4y)  

= –4x2 –8xy –8xy –16y2 
= –4x2–16xy–16y2

	×

–2x
–4y
2x
–4x2
–8xy
4y
–8xy
–16y2


	5.
	  (a –3) (4a +26)

= 4a2 +26a –12a –78
= 4a2 +14a –78

	×

4a
26
a 
4a2
26a
–3
–12a 
–78 


	6.
	  (x –2y) (x +y)   

= x2 +xy –2xy –2y2 

= x2 –xy –2y2 

	×

x
y
x
x2
xy
–2y
–2xy
–2y2


	7.
	  (–k +h)(5k +2h)

= –5k2–2hk +5hk +2h2
= –5k2 +3hk +2h2

	×

5k 
2h
–k
–5k2
–2hk
h
5hk
2h2


	8.
	  (–2p –10q) (11p +q)   

= –22p2 –2pq –110pq –10q2 

= –22p2 –112pq –10q2 

	×

11p 
q
–2p 
–22p2
–2pq
–10q
–110pq
–10q2


	9.
	  (–2a –2b) (–a +6b) 

= 2a2 –12ab +2ab –12b2 
= 2a2 –10ab –12b2

	×

–a 
6b
–2a
2a2
–12ab
–2b
2ab
–12b2


	10.
	  (–x –2y) (3x –4y)

= –3x2 +4xy –6xy +8y2 
= –3x2 –2xy +8y2 

	×

3x 
–4y
–x 
–3x2
4xy
–2y
–6xy
8y2


	11.
	  (–5k –2h) (–h –8k)

= 5hk +40k2 +2h2 +16hk
= 40k2 +21hk+2h2

	×

–h 
–8k
–5k
5hk
40k2
–2h
2h2
16hk


	12.
	  (–a –b) (–6a –9b)

= 6a2 +9ab +6ab +9b2
= 6a2 +15ab +9b2

	×

–6a 
–9b
–a
6a2
9ab
–b
6ab
9b2


	13.
	  (–2t –s) (–2t +s)

= 4t2–2st +2st –s2 
= 4t2 –s2

	×

–2t 
s
–2t 
4t2
–2st
–s
2st
–s2



